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1. Choose the correct answer from the
following : 1x8=8

(@) “Medical Sociology began with a
different orientation when compared to
sociology’s core field.” Who said this?
(i) Alvin Gouldner
(i) J. N. Banerjee

(iii) Florence Ruderman
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(2)

(b) Who was the author of the book,
Dominant Issues in Medical Sociology ?

(i) Peter Conrad
(i) W. C. Cockerham
(i) Howard Schwartz

(c) According to E. B. Tylor, which was
man’s earliest form of religion?

(i) Naturalism
(i) Totemism

(ifi) Animism

(d) The National Tuberculosis Control
Programme was adopted in

(i) 1950
(ii) 1997
(iii) 2002

In which year was The Berry White
School of Medicine’ established in

Dibrugarh?
(i) 1890
(i) 1900
(i) 1910

(e)
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(g)

(h)

(53]

Who among the following sociologists
discussed about sick role?

(i) Talcott Parsons

(i) R. K. Merton

(i) K. Mannheim

‘Health for All’ is a programme which
was introduced by

(i) WHO

(i) UNESCO

(i) WTO

Who among the following is one of the
founding fathers of Medical Sociology?
(i) Herbert Spencer

(i) Auguste Comte

(iti) Talcott Parsons

2. Answer any four questions from the

following (within 150 words each) : 4x4=16

(a) Write a note on nature of Medical
Sociology.

(b) Write the meaning of Sociology of
Health.

(c) Discuss the objectives of National
Health Mission.
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(d

(e)

(T

Define  social epidemiology  with
example.

Write a short note on Gender and
Health.

3. Answer any four questions from th‘e
following (within 500 words each) : 14x4=56

(a)

(b)

(c)

(@)

(e)

Write an essay on evolution of social
medicine with special reference to India. 14

Discuss the relationship between man
and environment with special reference
to ecology of disease. 14

What are the basic problems of therapy
and rehabilitation? Discuss the
remedial measures from your under-
standing. 6+8=14

Define hospital. Explain hospital as
social organization. 4+10=14

What is the meaning of sick role?
Critically discuss it from sociological

perspectives. 4+10=14

Define dispensary. How does it play as a
community health centre? Discuss.

4+10=14
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